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3HQHOLWLDQ� LQL� EHUWXMXDQ� XQWXN� PHPEXNWLNDQ� VHFDUD� LOPLDK�PHQJHQDL� ����
SHUVSHNWLI� DXGLWRU� PXVOLP� GDODP� PHPDNQDL� LQGHSHQGHQVL� DXGLWRU�� ����
SHUEDQGLQJDQ� FDUD� PHPDNQDL� LQGHSHQGHQVL�� DQWDUD� DXGLWRU� PXVOLP� GHQJDQ�
DXGLWRU�QRQ�PXVOLP��GDQ�����QLODL�QLODL�\DQJ�PHPSHUOHPDK�GDQ�QLODL�QLODL�\DQJ�
PHPSHUNXDW�LQGHSHQGHQVL�DXGLWRU�

0HWRGH� SHQHOLWLDQ� \DQJ� GLJXQDNDQ� DGDODK� NXDOLWDWLI� LQWHUSUHWLI�� NRQVHS�
LQGHSHQGHQVL GLHNVSORUDVL� PHQJJXQDNDQ� SHQGHNDWDQ� LQWHUDNVL VLPEROLN
%OXPHU� DWDX� &KLFDJR� 6FKRRO� RI� 6\PEROLF� ,QWHUDFWLRQLVP �&66,�� 0HWRGH�
ZDZDQFDUD�GHQJDQ�EHEHUDSD�DXGLWRU�PXVOLP�GDQ�QRQ�PXVOLP�GLJXQDNDQ�XQWXN�
PHQJXPSXONDQ� GDWD�� 7ULDQJXODVL� WHRUL� GLJXQDNDQ� XQWXN� PHQJXML� NHDEVDKDQ�
GDWD� ZDZDQFDUD�� VHGDQJNDQ� FRGLQJ WHUKDGDS� GDWD� GLJXQDNDQ� XQWXN�
PHPSHUPXGDK�SURVHV�LQWHUSUHWDVL�GDWD��

+DVLO� GDUL� SHQHOLWLDQ� LQL� \DLWX�� ���� GHILQLVL� LQGHSHQGHQVL� EHUGDVDUNDQ�
SHUVSHNWLI�DXGLWRU�PXVOLP GDQ�QRQ�PXVOLP PHOLSXWL�VLNDS�GDQ�SROD�KXEXQJDQ��
����QLODL�QLODL� ,VODP�\DQJ�EHUNDLWDQ�GHQJDQ�QLODL�QLODL�VRVLDO�\DQJ� WHUNDQGXQJ�
SDGD� V\DULDW� ,VODP� \DQJ�GDSDW�PHPSHUOHPDK LQGHSHQGHQVL GDP�PHPSHUNXDW
LQGHSHQGHQVL�
.DWD�NXQFL��LQGHSHQGHQVL�DXGLWRU� NRQVWUXNVL� QLODL�± QLODL�,VODP�


